N of associated (recoToSim) looper tracks vs normalized X’

) tracks vs normalized x?

recoToSim)

[{

[N o associated

[N of reco track vs normalized x2

0924 6 & 10 12 14 16 18 20

track x?

berset

50
—
syoeJ] 91eddnp

<
=

=1

0.95/

32
N <
oo x
— O
8
Jo =
—
s
—
I oV}
—
o
—
=10
-1©
-~
-y
ol = o > &
2 2 3 5 3
Syoel] AXey syoen Syey
02
N <
oo x
— O
IS
Jo =
—
s
—
o
i
Jo
—
oo ]
H
o z
o
I 2
H
-l 2
2 o N
3 = S
sxoel) aniy = soen anii’
©
L 2]
c
58
(She]
Q (=]
Ny B
ol ==
d=x 2
& ES
1= m,m_
< E=
— 9494
afal
I [oV}
—
o
—
-]
-1© .
2
i *
g
-{y .nnv.
3
2
2 -
> 5
° z

syoen

syoen




	Contents
	Page 1


